
 

Advantages of AC supply
They are cheaper to produce on a large scale using
principle of Electromagnetic Induction

2 They can be easily transmitted over long distances

using transformer

3 The Voltage Current can be easily stepped up or stepped
down to minimise power losses

Disadvantages of AC supply

Since AC current and Voltage varies continously so

it is very difficult to calculate power
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How do we perform calculations involving ac supply
For calculation purposes we use a value of current Voltage
known as RMS value

Root mean square

What is a RMS value
RMS value for current or Voltage is defined as a steady value
or a constant value which produces power in a circuit
at the same rate as produced by the actual ACsupply
i e it is reffered to a dc equivalent for an ACsupply

How to calculate rms value
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Since Current and Voltage are proportional to each

other a similar formula can also be used for

alternating voltage
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b How to calculate RMS value for Power
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Can we use mean current voltage and power insted
of RMS current voltage and powerI
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However for power mean power and RMS power is
same thing
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iii Suggest what happenens if frequency of AC supply is
doubled to the peak power
If frequency doubles than w doubles 30K 60K

However this change will not influence peak power
because it depends upon peak voltage

2How to calculate rms value other than a c supply
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If we have a square wave than RMS value becomes

same as peak value
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Example 3
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